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1.   Average waiting time (minutes)
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2.   Probability that a customer has to wait in queue
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3.   Probability of idle server
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4.   Average service time
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5.   Average time between arrivals (minutes)
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6.   Average waiting time of those who wait (minutes)
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7.    Average time customer spends in the system (minutes)



[image: image13]


[image: image14]
total number of customers





total time customers wait in queue (minutes)





0





=





=





44





=





0





minute





=





total number of customers





number of customers who wait 





minute





0





=





=





0





44





=





total run time of simulation (minutes)





total idle time of server (minutes)





minutes





11.82





=





=





2128





180





total number of customer





total service time of server (minutes)





=





44





2342





minute





53.23





=





=





sum of  all times between arrivals (minutes)





=





number of  arrivals-1





43





132





minutes





3.07





=





=





total time customer wait in queue (minutes)





total number of customer who wait in queue





=





0





0





total time customer spend in the system (minutes)





total number of customer





(หาค่าไม่ได้)





=





=





44





2342





minutes





53.23





=





=








